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	7.1.6.1

	Reason for change
	During this test case, MAC PDU is sent with size 21 bytes (168 bits) to platform to be sent to UE. According to 36523-3 “DCI-1-UE-Specific” sheet, TBS 168 is not valid. 

	Summary of change
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	Source of change
	MAC_716.ttcn


Before:

	    //@siclog "Step 1" siclog@

    // Choose the next subframe when the onDurationTimer is started.

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, 0);

    // The other things in Step 1 automatically taken care by SS

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (0,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)))); //Change 1.4

    t_Watchdog.start;

    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 2" siclog@

    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 1?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number ),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");

    t_Watchdog.stop;

    //@siclog "Step 3" siclog@

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 1);

    // The other things in Step 3 automatically taken care by SS

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (1,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu))));
    //@siclog "Step 5" siclog@

    // preconfig SS

    v_NormalSF := f_DRX_NormalSF( v_Timing1.Subframe.Number, tsc_InactivityTimer, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_NormalSF);

    // The other things in Step 5 automatically taken care by SS

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (2,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)))); //

    t_Watchdog.start;

    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_AckNack_TimingInfo(v_Timing2, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 4" siclog@

    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 3?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number,v_Timing1.Subframe.Number ),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Step 6" siclog@

    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 5?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing2.SFN.Number,

                                                    v_Timing2.Subframe.Number),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

    t_Watchdog.stop;

    //@siclog "Step 7" siclog@

    // set CRC error as error mode

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1, cs_DL_SCH_CRC_C_RNTI_Error(Erroneous));

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 2);

    // The other things in Step 7 automatically taken care by SS

    // step 7 and 9 should be on one HARQ process

    // HARQ process 0 selected arbitrarily

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (3,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    // set CRC error as normal mode

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing1, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    //@siclog "Step 9" siclog@

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing1.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_HARQRTTTimer);

    // The other things in Step 9 automatically taken care by SS

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    t_Watchdog.start;

    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_AckNack_TimingInfo(v_Timing2, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 8" siclog@

    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 7?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                      nack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 8");

    //@siclog "Step 10" siclog@

    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 9?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 10");

    t_Watchdog.stop;

    //@siclog "Step 11" siclog@

    // set CRC error as error mode

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1, cs_DL_SCH_CRC_C_RNTI_Error(Erroneous));

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 2);

    // The other things in Step 11 automatically taken care by SS

    // step 11 and 13 should be on one HARQ process

    // HARQ process 0 selected arbitrarily

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (4,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    // set CRC error as normal mode

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing1, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    //@siclog "Step 13" siclog@

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing1.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_HARQRTTTimer);

    v_NormalSF := f_DRX_NormalSF(v_Timing2.Subframe.Number, tsc_DRXRetranTimer - 1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing2, v_NormalSF);

    // The other things in Step 13 automatically taken care by SS

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_AckNack_TimingInfo(v_Timing2, v_EUTRA_FDD_TDD_Mode);

    t_Watchdog.start;

    //@siclog "Step 12" siclog@

    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 11?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                      nack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 12");

    //@siclog "Step 14" siclog@

    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 13?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");

    t_Watchdog.stop;

    //@siclog "Step 15" siclog@

    // Config SS to report Reception of Buffer status report

    // f_SS_ConfigBufferStatusReportIndMode(eutra_Cell1,tsc_L1Mac_IndicationMode_Enable );

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 1);

    f_SS_ConfigBufferStatusReportIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable, cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number) );

    // UL Grant of 16 bits

    //f_EUTRA_OneULGrantTransmission( eutra_Cell1, cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number), 0, 1);

    f_EUTRA_ULGrantConfiguration_Common(eutra_Cell1,

                                        cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                        cs_DciInfo_CcchDcchDtchUL_Explicit(0,  1),

                                        cs_PUCCH_Synch_None,

                                        cs_UL_GrantConfig_OneTime);

    //@siclog "Step 17" siclog@

    select (v_EUTRA_FDD_TDD_Mode) {

      case (FDD) {

        v_SubframeOffset := 8 * (tsc_MaxHARQTx - 1);

      }

      case (TDD) {

        v_SubframeOffset := 10 * (tsc_MaxHARQTx - 1);

      }

    }

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (5,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Automatic,

                                          v_SubframeOffset));
    // Preconfig SS for preventing UE to enter DRX


After:
	    //@siclog "Step 1" siclog@

    // Choose the next subframe when the onDurationTimer is started.

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, 0);

    // The other things in Step 1 automatically taken care by SS

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (0,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)))); //Change 1.4

    t_Watchdog.start;

    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 2" siclog@

    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 1?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number ),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");

    t_Watchdog.stop;

    //@siclog "Step 3" siclog@

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 1);

    // The other things in Step 3 automatically taken care by SS

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (1,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu))));
    //@siclog "Step 5" siclog@

    // preconfig SS

    v_NormalSF := f_DRX_NormalSF( v_Timing1.Subframe.Number, tsc_InactivityTimer, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_NormalSF);

    // The other things in Step 5 automatically taken care by SS

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (2,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)))); //

    t_Watchdog.start;

    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_AckNack_TimingInfo(v_Timing2, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 4" siclog@

    // Check: Does the UE transmit a HARQ ACK for  the DL MAC PDU in Step 3?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number,v_Timing1.Subframe.Number ),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Step 6" siclog@

    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 5?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing2.SFN.Number,

                                                    v_Timing2.Subframe.Number),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

    t_Watchdog.stop;

    //@siclog "Step 7" siclog@

    // set CRC error as error mode

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1, cs_DL_SCH_CRC_C_RNTI_Error(Erroneous));

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 2);

    // The other things in Step 7 automatically taken care by SS

    // step 7 and 9 should be on one HARQ process

    // HARQ process 0 selected arbitrarily

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (3,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    // set CRC error as normal mode

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing1, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    //@siclog "Step 9" siclog@

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing1.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_HARQRTTTimer);

    // The other things in Step 9 automatically taken care by SS

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    t_Watchdog.start;

    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_AckNack_TimingInfo(v_Timing2, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 8" siclog@

    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 7?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                      nack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 8");

    //@siclog "Step 10" siclog@

    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 9?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 10");

    t_Watchdog.stop;

    //@siclog "Step 11" siclog@

    // set CRC error as error mode

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1, cs_DL_SCH_CRC_C_RNTI_Error(Erroneous));

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 2);

    // The other things in Step 11 automatically taken care by SS

    // step 11 and 13 should be on one HARQ process

    // HARQ process 0 selected arbitrarily

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (4,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    // set CRC error as normal mode

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing1, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    //@siclog "Step 13" siclog@

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing1.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_HARQRTTTimer);

    v_NormalSF := f_DRX_NormalSF(v_Timing2.Subframe.Number, tsc_DRXRetranTimer - 1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing2, v_NormalSF);

    // The other things in Step 13 automatically taken care by SS

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(0)));
    // Get the time when UE sent ACK

    v_Timing1 := f_AckNack_TimingInfo(v_Timing1, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_AckNack_TimingInfo(v_Timing2, v_EUTRA_FDD_TDD_Mode);

    t_Watchdog.start;

    //@siclog "Step 12" siclog@

    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 11?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                      nack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 12");

    //@siclog "Step 14" siclog@

    // Check: Does the UE transmit a HARQ ACK for the DL MAC PDU in Step 13?

    SYSIND.receive ( car_UL_HARQ_IND (eutra_Cell1,

                                      cr_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                      ack ));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");

    t_Watchdog.stop;

    //@siclog "Step 15" siclog@

    // Config SS to report Reception of Buffer status report

    // f_SS_ConfigBufferStatusReportIndMode(eutra_Cell1,tsc_L1Mac_IndicationMode_Enable );

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 1);

    f_SS_ConfigBufferStatusReportIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable, cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number) );

    // UL Grant of 16 bits

    //f_EUTRA_OneULGrantTransmission( eutra_Cell1, cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number), 0, 1);

    f_EUTRA_ULGrantConfiguration_Common(eutra_Cell1,

                                        cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                        cs_DciInfo_CcchDcchDtchUL_Explicit(0,  1),

                                        cs_PUCCH_Synch_None,

                                        cs_UL_GrantConfig_OneTime);

    //@siclog "Step 17" siclog@

    select (v_EUTRA_FDD_TDD_Mode) {

      case (FDD) {

        v_SubframeOffset := 8 * (tsc_MaxHARQTx - 1);

      }

      case (TDD) {

        v_SubframeOffset := 10 * (tsc_MaxHARQTx - 1);

      }

    }

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (5,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1,v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Automatic,

                                          v_SubframeOffset));
    // Preconfig SS for preventing UE to enter DRX
	


1.2 Change 2

	Test case name
	7.1.6.2

	Reason for change
	During this test case, MAC PDU is sent with size 21 bytes (168 bits) to platform to be sent to UE. According to 36523-3 “DCI-1-UE-Specific” sheet, TBS 168 is not valid. 

	Summary of change
	TBS is changed to 176 by adding one padding. For this template cs_MAC_PDU_NoPadding_RLCPDU_LCID is changed to cs_MAC_PDU_1SubHeader_1Padding

	Source of change
	MAC_716.ttcn


Before:

	    //@siclog "Step 1" siclog@

    // set CRC error as error mode

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,cs_DL_SCH_CRC_C_RNTI_Error(Erroneous));

    // Choose the next subframe when the onDurationTimer is started.

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 1 - tsc_SubFrameX);

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (0, 10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(1)));

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing1.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 3" siclog@

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing1, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    v_NormalSF := f_DRX_NormalSF(v_Timing1.Subframe.Number, tsc_SubFrameY, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                         tsc_RbId_DRB1,

                                         cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                         cs_MAC_PDUList_1 ( cs_MAC_PDU_DRX_Command_1Padding ),

                                         cs_HarqProcessAssignment_Specific(2)));

    //@siclog "Step 5" siclog@

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing2, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Erroneous),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    /* v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (1, 10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_16B))))); */

    v_Timing3 := f_EUTRA_TimingInfoAdd(v_Timing1, v_HARQRTTTimer);

    v_NormalSF := f_DRX_NormalSF( v_Timing3.Subframe.Number, 0, v_EUTRA_FDD_TDD_Mode);

    v_Timing3 := f_EUTRA_TimingInfoAdd(v_Timing3, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                         tsc_RbId_DRB1,

                                         cs_TimingInfo(v_Timing3.SFN.Number, v_Timing3.Subframe.Number),

                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu)),

                                         cs_HarqProcessAssignment_Specific(3)));

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing3.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 7" siclog@

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing3, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    v_Timing4 := f_EUTRA_TimingInfoAdd(v_Timing3, v_HARQRTTTimer);

    v_NormalSF := f_DRX_NormalSF( v_Timing4.Subframe.Number, tsc_DRXRetranTimer - tsc_SubFrameZ, v_EUTRA_FDD_TDD_Mode);

    v_Timing4 := f_EUTRA_TimingInfoAdd(v_Timing4, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU ( eutra_Cell1,

                                           tsc_RbId_DRB1,

                                           cs_TimingInfo(v_Timing4.SFN.Number, v_Timing4.Subframe.Number),

                                           cs_MAC_PDUList_1 ( cs_MAC_PDU_DRX_Command_1Padding ),

                                           cs_HarqProcessAssignment_Specific(4)));

    //@siclog "Step 9" siclog@

    /* v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (2,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_16B))))); */

    v_NormalSF := f_DRX_NormalSF(v_Timing4.Subframe.Number, tsc_SubFrameZ - 1, v_EUTRA_FDD_TDD_Mode);

    v_Timing5 := f_EUTRA_TimingInfoAdd(v_Timing4, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU ( eutra_Cell1,

                                           tsc_RbId_DRB1,

                                           cs_TimingInfo(v_Timing5.SFN.Number, v_Timing5.Subframe.Number),

                                           cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu)),

                                           cs_HarqProcessAssignment_Specific(5) ));


After:
	    //@siclog "Step 1" siclog@

    // set CRC error as error mode

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,cs_DL_SCH_CRC_C_RNTI_Error(Erroneous));

    // Choose the next subframe when the onDurationTimer is started.

    v_Timing1 := f_GetNextSendOccasion_7_1_6_X(eutra_Cell1, v_EUTRA_FDD_TDD_Mode, tsc_LongDRXCycle, tsc_DrxStartOffset, tsc_OnDurationTimer - 1 - tsc_SubFrameX);

    v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (0, 10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_16B)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo(v_Timing1.SFN.Number, v_Timing1.Subframe.Number),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1, v_EncodedRlcPdu)),

                                          cs_HarqProcessAssignment_Specific(1)));

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing1.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 3" siclog@

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing1, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    v_NormalSF := f_DRX_NormalSF(v_Timing1.Subframe.Number, tsc_SubFrameY, v_EUTRA_FDD_TDD_Mode);

    v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing1, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                         tsc_RbId_DRB1,

                                         cs_TimingInfo(v_Timing2.SFN.Number, v_Timing2.Subframe.Number),

                                         cs_MAC_PDUList_1 ( cs_MAC_PDU_DRX_Command_1Padding ),

                                         cs_HarqProcessAssignment_Specific(2)));

    //@siclog "Step 5" siclog@

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing2, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Erroneous),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    /* v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (1, 10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_16B))))); */

    v_Timing3 := f_EUTRA_TimingInfoAdd(v_Timing1, v_HARQRTTTimer);

    v_NormalSF := f_DRX_NormalSF( v_Timing3.Subframe.Number, 0, v_EUTRA_FDD_TDD_Mode);

    v_Timing3 := f_EUTRA_TimingInfoAdd(v_Timing3, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                         tsc_RbId_DRB1,

                                         cs_TimingInfo(v_Timing3.SFN.Number, v_Timing3.Subframe.Number),

                                         cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1, v_EncodedRlcPdu)),

                                         cs_HarqProcessAssignment_Specific(3)));

    v_HARQRTTTimer := f_GetHARQRTTTimer(v_Timing3.Subframe.Number, v_EUTRA_FDD_TDD_Mode);

    //@siclog "Step 7" siclog@

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing3, 1);

    f_SS_ConfigCRC_ErrorMode(eutra_Cell1,

                             cs_DL_SCH_CRC_C_RNTI_Error(Normal),

                             cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number));

    v_Timing4 := f_EUTRA_TimingInfoAdd(v_Timing3, v_HARQRTTTimer);

    v_NormalSF := f_DRX_NormalSF( v_Timing4.Subframe.Number, tsc_DRXRetranTimer - tsc_SubFrameZ, v_EUTRA_FDD_TDD_Mode);

    v_Timing4 := f_EUTRA_TimingInfoAdd(v_Timing4, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU ( eutra_Cell1,

                                           tsc_RbId_DRB1,

                                           cs_TimingInfo(v_Timing4.SFN.Number, v_Timing4.Subframe.Number),

                                           cs_MAC_PDUList_1 ( cs_MAC_PDU_DRX_Command_1Padding ),

                                           cs_HarqProcessAssignment_Specific(4)));

    //@siclog "Step 9" siclog@

    /* v_EncodedRlcPdu := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll,

                                                           int2bit (2,10),

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_16B))))); */

    v_NormalSF := f_DRX_NormalSF(v_Timing4.Subframe.Number, tsc_SubFrameZ - 1, v_EUTRA_FDD_TDD_Mode);

    v_Timing5 := f_EUTRA_TimingInfoAdd(v_Timing4, v_NormalSF);

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU ( eutra_Cell1,

                                           tsc_RbId_DRB1,

                                           cs_TimingInfo(v_Timing5.SFN.Number, v_Timing5.Subframe.Number),

                                           cs_MAC_PDUList_1 (cs_MAC_PDU_1SubHeader_1Padding (tsc_LchId_DRB1, v_EncodedRlcPdu)),

                                           cs_HarqProcessAssignment_Specific(5) ));
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